JOURNALIST IN DTE OF INFORMATION & PUBLIC RELATION (DIPR)

YEAR OF ADVT: 2016 DATE OF EXAM: 15-SEP-2018

DONOT BREAK THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO

QUESTION BOOKLET SERIES 11

Subject : General English, General Knowledge & Aptitude

BOOKLET SERIAL NO. 250 238 Marks : 300
Time : 3 (three) hours

Read the following instructions carefully before you
begin to answer the questions.

INSTRUCTIONS TO CANDIDATES

1. This booklet contains 200 questions to be answered in a separate OMR Answer Sheet using Black
Ball Pen in following two parts.

Part-A-General English : 100 questions, Part-B-General Knowledge & Aptitude : 100 ques-
tions.

2. All Questions are compulsory.

3. You will be supplied the Answer sheet separately by the invigilator. You must complete the details of
particulars asked for.

4. Answers must be shown by completely blackening the corresponding circles in the Answer Sheet
against the relevant question number by Black Ball Pen. OMR Answer Sheet without marking series/
double series marking shall not be evaluated.

Example : '

Supposing the following question is asked :-

The Capital of Meghalaya is-
A. Guwahati

B. Kohima

C. Shillong

D. Delhi

You will have four alternatives in the Answer Sheet for your response corresponding to each question

of the Question Booklet as below :-
® ®O00

Inthe aboveillustration, if your chosen response is alternative Ci.c. Shillong, then the same should be marked
on the Answer Sheet by blackening the relevant circle with a Black Ball Point Pen only as below :-

ONON JO

WHICH IS THE ONLY CORRECT METHOD OF ANSWERING :

5. Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others
easy. Do not spend too much time on any one question.

6. There will NOT be any negative marking for WIONg answers.
7. The Answer Sheet must be handed over to the invigilator before you leave the Examination Hall.

8. No rough work is to be done on the Answer Sheet. Space for rough work has been provided in the
question booklet.
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PART -A-GENERAL ENGLISH

Marks :200

Each question carries 2 marks :

Directions: (Q.No.1-20) In these ques-
tions, out of the four alternatives given,
choose the one which best expresses the
meaning of the underlined word :

1. He showed reluctance towards taking up

the project.
a) hesitation b) promptness
c) interest d) hatred

2. A sadness permeates the soul when we re-

member the past.
a) combines b) penetrates
c) destroys d) covers

3. Contrary to public perception , most women
manage full-time jobs well.

a) observation b) opposition

¢) provocation d) agitation

4. They have asked for an enunciation of rel-

evant policies.
a) announcement b) education
c) explanation d) rejection

5. You should avoid such dissensions among
the staff.

a) differences
c) relationships

b) friendships
d) agreements

6. Pay attention to your priorities .
a) duties b) resources
c) traditions d) choices

7. Most people visit swimming pools for a
cool-off and some frolic.

a) exercise b) bath

c¢) washing d) merriment

8. The task is daunting .

a) easy b) challenging
c) useless d) irritating
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9. It is inconceivable that the son should turn
his mother out of the house.

a) unimaginable b) careless
c¢) harmful d) possible
10. The plan has been discarded .
a) accepted b) rejected
c) executed d) started

11. Her dress is immaculate .

a) useless b)ugly

c) faultless d) dirty

12. These instruments are indispensable for the
experiment.

a) secondary b) dangerous

c) essential d) available

13. The mother reprimanded her child.
a) pampered b) loved
¢) hated d) scolded

14. He is an ecologist .
a) philosopher b) astronomer

c) scientist d) writer

15. He cannot adjust in this social milieu .

a) environment b) locality

¢) area d) change

16. The interest is cumulative .

a) decreasing b) falling

¢) vanishing d) increasing
17. Try to use your calibre to the full.
a) capacity b) talent

¢) brain d) energy

18. Flowers are a perennial source of joy.
a) seasonal b) temporary
¢) monthly d) continuous

19. Blood pressure is often a precursor of
strokes.
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a) follower b) symptom
¢) fore-runner d) factor

20. He often talked about the resplendance,
of Western culture.
a) glamour
c) dullness

b) emptiness
d) brilliance

Directions: (Q.No0.21-30) In these ques-
tions, out of the four alternatives given,
choose the one which is opposite in mean-
ing of the underlined word :

21. 1 cannot extricate myself from this situation
a) entangle b) escape
c) navigate d) distance

22. Her clothes are extremely garish .
a) expensive b) colourful
¢) modest d) transparent

23. The actor claims to be a hedonist .

a) ascetic b) hermit

c) beggar d) fool

24. She has been living a tumultuous life.
a)wild b) orderly

¢) unhappy d) happy

25. Your words are striking a discordant note.
a) unpleasant b) harmonious

¢) contradictory d) unfriendly

26. The story of the play is banal.

a) ordinary b) boring

c) scary d) original
27. They cannot annul the marriage.
a) stop b) oppose
c) validate d) reverse

28. The king has decided to abdicate his throne
a)leave b) abandon
¢) retain d) sacrifice

29. The officer was told to subvert the plan.
a) sabotage b) change
c)revise d) uphold
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30. The reluctance of the student is obvious.
a) hesitation b) eagerness
¢) enjoyment d) unwillingness

Directions: (Q.No.31-40) In the following
questions, sentences are given with blanks
to be filled with an appropriate and suit-
able word. Four alternatives are suggested
for each question. Choose the correct al-
ternative out of the four.

31.Icaught her the arm.

a)on b)in

c) by d)into

32. You have to abstain drinks.
a) from b) with

¢)of d) at

33. He has been disqualified the exam.
a)in b) at

c)of d) from
34.Heistrying to his business.
a) setup b) set down

¢) setout d) set away

35. The price of sugar has ;
a) gone away b) gone abroad
C) gone across d) gone down

36.1wishI aking.

a)am b) was

c) were d)is
37.Heis young for the job.
a) too b) so

¢) most d) little

38. Now I have no work 7
a)amI b)dol
c)shalll d)havel
39. Let us play together ?
a) will we b) shall we
c) are we d) do we
40. She was singing song.

I



a)an
c)a

b) the
d) those

Directions : (Q.No. 41-50) Fill in the blanks
with the appropriate preposition from the

options below :
41. You are guilty theft.
a) by b) of
¢)in d)to
42. They hold him high esteem.
a)at b) of
¢) for d)in
43. Try to getrid the problem.
a)of b)on
¢) with d)in
44.Tam not moved your entreaties.
a) for b)in
c) by d) about
45. The students are anxious their
results.
a) with b) for
c)of d) about
46. They are sure success.
a) about b) of
¢)in d)to
47. She is lame one leg.
a) at b) into
c)in d) by
48. The place is infested rats.
a) for b) by
c)to d) with
49. This method is liable eITor.
a)to b) at
c) by d)into
50. He is absent class.
a)in b) at
c) against d) from
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Directions: (Q.No0.51-70) In these ques-
tions, some of the sentences have errors
and some have none. Find out which part
of a sentence a, b, ¢, d has an error and
select that part as an answer. If there is no
error then (d) is the answer.

51. He ran out of money (a) / and could not
longer (b) / continue school (c) / No error (d)

52. The doctor had so many patients (a) / that
he could not (b) / see them all (c) / No error (d)

53.Ttwas (a) / such a good game (b)/ that the
stadium was packing (c) / No error (d)

54. Heis so shy (a) / that he (b) / never speaks
in class (¢)/ No error (d)

55. The book were (a) / so interesting (b) / that
I could not put it down (c) / No error (d)

56.1told him as forceful as possible (a) / that
he could not (b) / enter the room (¢) / No etror

(d)

57. He s (a) / no going on vacation (b) / this
summer (c¢) / No error (d)

58. There is (a) / not butter (b) / in the refrig-
erator (c¢) / No error (d)

59. T encourage you (a) / to do not (b) / wait
for him (¢) / No error (d)

60. He gave me so good advice (a) / thatI was
(b) / very grateful to him (c) / No error (d)

61. He was as rich (a) / that he (b) / owned
four homes (c) / No error (d)

62. We went (a) / to the store (b) / and bought
an new stove (¢) / No error (d)

63. He tried hard (a) / to get good marks (b) /
on the test (¢) / No error (d)

64. Everyone should have (a) / an equal op-
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portunity (b) / to get good education (¢) / No
error (d)

65. The professor (a) / forbids the students (b)
/ learning early (c) / No error (d)

66. 1 am looking forwards (a) / to seeing (b) /
you again (¢) / No error (d)

67. Please do not fail (a) / registering (b) / be-
fore the deadline (c) / No error (d)

68. There was a story (a) / in the paper (b) /
about the car - theft (¢) / No error (d)

69. The children (a) / went to the movies (b) /

without no money (c¢) / No error (d)

70. He could (a) / not longer (b) / tolerate that
situation (¢)/No error (d)

Directions : (Q.No.71-80) In these ques-
tions, four alternatives are given for the
given idiom / phrase. Choose the alterna-
tive which best expresses the meaning of
the given idiom / phrase.

71. Get cold feet
a) to feel hurt

b) to feel cold

c)to feel frightened
d) to feel angry

72. Far from the madding crowd

a) to be removed from the job

b) to feel removed from technology

¢) to feel removed from the bustle of civiliza-
tion

d) to feel removed from the family

73. Get into a scrape

a) to get hurt

b) to find oneself in an awkward predicament
c¢)to fall down

d) to clean

74. Have one’s hands full
a) have a lot of work to do
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b) have alot of spare time
c¢) have a lot of things to hold
d) have clean hands

75. Make one’s mark

a) to make a bad impression

b) to make financial gains

¢) to make a deal

d) to make an important impression on others

76. A slice of the cake
a) piece of cake

b) a final agreement

¢) the end of the deal

d) a share of the benefits

77. Askeleton in the cupboard
a) a secret of the present

b) a secret of the future

c) asecret till eternity

d) a secret of the past

78. Amagic wand
a) an easy way to solve a problem

b) a performance of a magical programme
c)atoy
d) amusical performance

79. Once bitten, twice shy

a) to be injured

b) to be cautious after being hurt
c) to feel shy

d) to feel betrayed

80. Like peas in a pod
a) to be similar

b) to be different

¢) to be friendly

d) to be beautiful

Directions: (Q.No. 81-90) Choose the cor-
rect meanings for the words and phrases
given below :

81. any written or printed statement tending to
expose a person to public ridicule means
a)level b) liable

c)libel d) lethal
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82. achange of form, shape, structure, or sub-

stance means
a) psychosis b) neurosis
c) catharsis d) metamorphosis

83. a person considered of little importance
means

a) non entity

¢) non descript

b) non existent
d) non essential

84. writing under a fictitious name means
a) annonymous b) disguise
¢) pseudonym d) specimen

85. to feel an emotional warmth means
a) armour b) ardour
¢) ardent d) archaic

86. anything that happens prior to another means
a) precedent b) antecedant
¢) president d) annotation

87. to divide into two branches or parts means
a)division b) distribution
c)allotment d) bifurcation

88. to settle definitely means
a)to clinch b)to clench
¢)toclip d) to clink

89. the act of writing on the back of a cheque
is

a) agreement
¢) endorsement

b) signature
d) insurance

90. a book or set of books giving information
on all branches of knowledge, generally in ar-
ticles alphabetically arranged means

a) dictionary b) encyclopedia

¢) monolith d) kindle

Directions : (Q.No. 91-100) Choose the
correct sentences :

91.1) That student is always late.
i) He is the student who always arrives late.
iii) He is the student who is always late in arriv-

mng.
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a) (i) and (ii)
¢) (ii) and (i)

b) (i) and (iii)
d) (i), (i) and (ii)

92.1) Saudi Arabia is a country which exports
oil all over the world.

ii) The whole world imports oil from Saudi
Arabia ’

ii) Oil exports Saudi Arabia to the whole world.

a) (1) and (ii) b) (i) and (iii)

¢) (i) and (iii) d) (i), (ii) and (iii)
93.1) Itold him the news.

i1) I gave him the news.

iii) I given the news to him.

a) (1) and (ii) b) (i) and (iii)

¢) (i) and (iii) d) (i), (i) and (iii)

94.1) They do not want to go by theirselves.
ii) They do not want to go by themselves.

iii) They do not want to go.
a) (1) and (ii) b) (i) and (iii)
¢) (ii) and (iii) d) (i), (ii) and (iii)

95.1) The child is getting ready for school.
ii) The child will take a bus to school.

iii) The child will take the school by bus.
a) (1) and (ii) b) (i) and (iii)

¢) (ii) and (iii) d) (), (i) and (iii)

96. 1) The new suit cost me over forty dollars.
ii) The new suit cost over forty dollars to me.
iii) The new suit that I bought cost me forty
dollars.

a) (i) and (ii)
¢) (ii) and (iii)

b) (i) and (i)
d) (i), (ii) and (i)

97.1) That Mount Everest is the highest peak
in the world.

ii) Tknow that Mount Everest is the highest peak
in the world.

iii) Mount Everest is the highest peak in the
world.

a) (i) and (ii) b) (i) and (iii)

¢) (ii) and (iii) d) (i), (ii) and (iii)
98. 1) Whose books are these ?

ii) Whose books is these ?

ii1) Whose book is this ? ’
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a) (i) and (ii) b) (i) and (iii)

¢) (ii)and (iii) d) (i), (ii) and (ii1)

99. 1) We visited the building which is famous
for its unusual design

ii) We visited the building what is famous for its
unusual design

iii) We visited the building that is famous for its
unusual design

a) (i) and (ii) b) (i) and (iii)

¢) (ii) and (iii) d) (i), (i) and (iii)

100. 1) My father often gives me a gift.
ii) My father often gives a gift to me.
iii) I often get a gift from my father.

a) (i) and (i) b) (i) and (i)
¢) (ii) and (iii) d) (i), (ii) and (iii)
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PART - B - GENERAL KNOWLEDGE & APTITUDE

Marks :100

Each question carry 1 mark:

101. The POSHAN Abhiyaan of the Central
Government of India is related to the area of
a) Soil health b) Organic fertilisers
¢) Child nutrition d) Old age nutrition

102. The name of the naval vessel, in which the
Indian Navy’s six member all-women crew who
finished circumnavigating the globe in over eight
months, is

a) INSV Ambika
¢) INSV Mohini

b) INSV Tarini
d) INSV Gauri

103. ‘CRISIL’, ‘CARE’ and ‘ICRA’ are ma-
jor Indian agencies related to

a) Cooperative Sector

b) Credit Rating

¢) Consumer Protection

d) College Education

104. The Government of India recently
launched Operation Insaniyat to support which
of the following countries in its humanitarian
efforts ?

a) Maldives b) Bangladesh

c) Sri Lanka d) Nepal

105. Which year the Armed Forces (Special
Powers) Act was enacted ?

a) 1956 b) 1957

c) 1958 d) 1959

106. Which Article of the Indian Constitution
separates judiciary from executive in India ?
a) Article 20 b) Article 30

¢) Article 40 d) Article 50

107. Who described the Government of India
Act, 1935 as anew charter of slavery ?

a) Mahatma Gandhi

b) Jawaharlal Nehru

¢) Subhash Chandra Bose

d) Mohammad Ali Jinnah
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108. Who was the first Deputy Prime Minister
of independent India ? .

a) Dr. B. R. Ambedkar

b) Sardar Vallabh Bhai Patel

¢) Maulana Abul Kalam Azad

d) V. V. Giri

109. What is the capital city of Austria ?
a) Oslo b) Vienna
c) Prague d) Brussels

110. Who is the Minister of State (Indepen-
dent Charge) of the Central Ministry of Youth
Affairs and Sports ?

a) Giriraj Singh

b) Jitendra Singh

¢) Chaudhary Birendra Singh

d) Rajyavardhan Singh Rathore

111. How many states and Union Territories
are there in India ?

a) 29 states and 7 Union Territories

b) 28 states and 7 Union Territories

¢) 29 states and 10 Union Territories

d) 28 states and 9 Union Territories

112. Measles is a disease caused by
a) Virus b) Bacteria
c¢) Fungus d) Parasite

113. Which of'the following Nobel Prizes will
not be declared in 2018 due to the ongoing
sexual harassment and assault allegations in the

Swedish Academy ?
a) Literature b) Physics
¢) Chemistry d) Medicine

114. What is the national sport of China ?
a) Table Tennis b) Karate
c¢) Kung Fu d) Badminton

115. In human eyes, the image of an object is
formed on
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a)Lens b) Iris
¢)Retina d) Sclera

116. ‘Phobes’ and ‘Demos’ are two satellites
of

a) Venus b) Saturn

¢) Mars d) Jupiter

117. Who was the Indian athlete to win
women’s 400m gold in the IAAF U-20 World
Championship held at Tampere, Finland ?

a) Sima Das b) Hima Das

c¢)Rina Das d) Lina Das

118. The 15* Finance Commission of India is
headed by

a) Montek Singh Ahluwalia

b) N. K. Singh

¢) Arvind Panagariya

d) Arvind Subramanian

119. The ‘Red List of Threatened Species’ is

published by the
a) WWF b) USEPA
¢) IUCN d) UNEP

120. When is “World Teachers’ Day” cel-
ebrated ?

a) 5™ September
¢) 11" November

b) 10™ October
d) 5% October

121. Lonar lake is located in
a) Manipur b) Orissa
¢) Maharashtra d) Madhya Pradesh

122. The first silent feature film of India ‘Raja
Harishchandra’, produced and directed by D.
G:. Phalke was released in

a) 1912 b) 1913

c) 1921 d) 1931

123. The Latin words ‘quid pro quo’ mean
a) Other things remain the same

b) Person eager to learn scandal

¢) One thing for another

d) Criminal intent

124. Digestion of food starts in
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a) Intestine b) Liver
¢) Stomach d) Mouth

125. Blood group ‘O’ is called universal donor
because it does not contain any

a) Antibodies b) Anti-toxicity
c)Antigen d) Plasma

126. When is the International Yoga Day cel-
ebrated ?

a) June 20
c) June 22

b) June 21
d) June 23

127. OnMay 25, 2018, which of the following
politicians won the trust vote in the Karnataka
Assembly as the Chief Minister ?

a) H. D. Deve Gowda

b) B. S. Yeddyurappa

¢) H. D. Kumaraswamy

d) Siddaramaia

128. Which state government has recently
launched a mission called ‘Go to Village’ ?

a) Meghalaya b) Nagaland

¢) Manipur d) Mizoram

129. Which polymer is used for the production
of non-sticky pan ?

a) Teflon

b) Polypropylene

¢) Polystyrene

d) Thermoplastic polyurethanes

130. Who is popularly known as the “Man of
Blood and Iron” ?

a) Napoleon b) Hitler

¢) Mussolini d) Bismarck

131. The Reserve Bank of India was
nationalised in

a) 1934 b) 1935

c) 1948 d) 1949

132. Who authored the book ‘A Brief History
of Time’?

a) Stephen Hawking  b) Louia Fischer
c)Jawaharlal Nehru  d) Thomas Paine
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133.1f ‘Autumn’ is used in British English,
what is the corresponding word used in the

American English ?
a) Fall b) Uprise
¢) Sprout d) Sunny

134. Who appoints the Chief Election Com-
missioner of India ?

a) Prime Minister of India

b) President of India

c¢) Chief Justice of the Supreme Court of
India

d) Vice President of India

135. What position does India occupy in the
world in terms of the geographical area ?

a) Sth b) 6th

C) 7th d) 8th

136. Who composed the national song of
India?

a) Bankim Chandra Chatterji

b) Rabindra Nath Tagore

¢) Igbal

d) Munsi Premchand

137. In the acronym CSIR, C stands for
a) Centre b) Council

c) Controller d) Cyber

138. Who of the following was not assassi-
nated ?

a) Theodore Roosevelt b) Julius Caesar

¢) Abraham Lincoln d) Indira Gandhi

139. Philately relates to the hobby of
a) Stamp collection

b) Coin collection

¢)Antique item collection

d) Autograph collection

140. The Playground of the Europe is
a) England b) Belgium
¢) Switzerland d) Norway

141. Which of the following is not a mosquito
borne disease ?
a) Dengue b) Filariasis
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c¢) Chickengunya d) Psoriasis
142. The hottest planet is

a) Venus b) Mars

¢) Saturn d) Earth

143. The Rio+20 was convened in 2012 to dis-
cuss about issues related to

a) Olympics

b) Poverty

c¢) Nuclear energy

d) Sustainable development

144. Velocity possesses

a) Magnitude b) Direction

¢) Both (a) and (b) d) Neither (a) nor (b)
145. How many times do we approximately
blink our eyes each day ?

a) 10,000 b) 15,000

¢) 20,000 d) 25,000

146. Each human cell contains pairs of
chromosomes.

a)21 b) 23

¢) 25 d) 27

147. Who of the following terrorists was hanged
in Tihar Jail in 2013 for being the main accused
in the Parliament Attack of 2001 ?

a) Masood Azhar b) Hafiz Saced
¢)Afzal Guru d) Sayeed Sallahudeen

148. Who among the following were the first to
invade India ?

a) Afghans b) Mongols

c)Arabs d) Turks

149. The compound used in anti-malarial drug
i

a) Aspirin
c) Isoprene

b) Neoprene
d) Chloroquin

150. Who has been conferred with the ‘Excel-
lent Woman of Excellence’ award at the World
Economic Forum (WEF) 2018 ?

a) Nisha Bhalla b) Aradhana Gupta

¢) Minakshi Kumari  d) Kritika Jain
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151. Whois called ‘the father of the symphony’?
a) Franz Joseph Haydn

b) Wolfgang Amadeus Mozart

¢) Ludwig van Beethoven

d) Gustav Mahler

152. What is Kabuki ?

a) Atraditional dance drama of Japan
b) A traditional fun sport of Japan

¢) A traditional music item of Japan

d) A traditional game of Japan

153. India has the largest deposits of in
the world.

a) Gold b) Coal

¢)Mica d) Copper

154. How many Lok Sabha seats belong to
the state of Meghalaya ?

a)2 b) 3

c)S d) 4

155. In which year, did terrorists crash two
planes into New York’s World Trade Centre
on September 11 in a heinous act of destruc-
tion ?

a) 2000
c) 2002

b) 2001
d) 2003

156. Which organisation has the motto ‘Be pre-
pared’ ?

a) The Boy Scouts
¢) The NCC

b) The Girl Guides
d) The NSS

157. Which of the following Greek statesmen
is referred by many as ‘the father of democ-
racy’ ?

a) Pericles
¢) Plato

b) Socrates
d) Aristotle

158. Who is the chief law officer of the gov-
ernment of India ?

a) the Solicitor General

b) the Attorney General

c) the Comptroller General

d) the Chief Advocate of the Supreme Court
of India
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159. The vacancy of the office of the President

of India must be filled within
a) 1 month b) 3 months
c¢) 6 months d) 1 year

160. Sikkim was granted statehood in the year

a) 1973 b) 1974

¢) 1975 d) 1976

161. The council ministers in a state is collec-
tively responsible to

a) the Chief Minister

b) the Governor

c) the Legislative Assembly
d) the People of the State

162. On the banks of which river is Jammu lo-
cated ?

a) Tawi b) Chenab

c)Jhelum d) Indus

163. In which season do we need more food ?
a) Rainy season b) Spring

¢) Summer d) Winter

164. How many teeth does a normal adult dog
have ?
a) 32
c) 38

b) 34
d) 42

165. India’s former Prime Minister Indira
Gandhi was assassinated in

a) 1974 b) 1984

c) 1994 d) 2004

166. Antibiotics are administered in certain dis-
eases. The objectis to

a) stimulate production of white blood cells to
fight the disease

b) inhibit the growth of bacteria

¢) stimulate production of antibodies

d) produce toxins against bacteria

167. Hundred Years’ War was fought between
a) France and England

b) U.S.A.and U.S.S.R.

¢) Greek and Persian Forces

d) Brazil and Argentina
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168. What is the Mosque of Ahmed in Instalbul
better known as

a) Green Mosque

b) Blue Mosque

c¢) Red Mosque

d) Black Mosque

169. What was the trial of Nazi war criminals
after World War II called ?

a) The Berlin Trial

b) The Oslo Trial

¢) The Nuremberg Trial

d) The Versailles Treaty

170. What is the only remaining part of the Sec-
ond Temple of Jerusalem called ?

a) The Falling Wall

b) The Tilting Wall

¢) The Wailing Wall

d) The Praying Wall

171. To which age does the Indus Valley
Civilisation belong ?

a) The Stone Age

b) The Bronze Age

¢) The Iron Age

d) None of the above

172. What is the full form of ISBN ?

a) International Standard Book Number
b) International Serial Book Number

¢) International Standard Book Name
d) International Serial Book Name

173. Who founded the Indian Institute of Sci-
ence, Bangalore ?

a) The Ambanis b) The Tatas
c¢) The Birlas d) The Bajajs
174. What s called ‘Blue Gold’ ?

a) Crude Oil b) Water

¢) Fish d) Kerosene

175. One who deals with the study and Scien-
tific analysis of election is an

a) Electionologist b) Psephologist
c) Political Analyst d) Podologist
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176. Two tailors X and Y are paid a total of
Rs. 550 per week by their employer. If X is
paid 120 percent of the sum paid to Y, how

much is Y paid per week ?
a) Rs.200 b) Rs.250
c)Rs.300 d)Rs.350

177. George purchased 20 dozens of socks at
the rate of Rs.375 per dozen. He sold each
one of them at the rate of Rs.33. What was his

percentage profit ?
a) 3.5 b) 4.5
c)5.6 d) 6.5

178. Find the odd one out : 16, 25, 36, 49, 64,
86

a) 36
c) 64

b) 49
d) 86

179. A fruit seller had some apples. He sells 40
percent apples and still has 420 apples. Origi-
nally he had

a) 588 apples
¢) 688 apples

b) 600 apples
d) 700 apples

180. In an election between two candidates,
one got 55 percent of the total valid votes, 20
percent of the votes were invalid. If the total
number of votes was 7500, the number of valid
votes the other candidate got, was

a) 2700 b) 2900

¢) 3000 d) 3100

181. Look at this series : 14, 28, 20, 40, 32,
64, ........ What number should come next ?
a) 52 b) 56

c) 96 d) 128

182. Everyone in your office has received a
new computer except for you. What would you
do ?

a) Assume this is a mistake and talk to the ad-
ministrator

b) Confront your administrator regarding you
are being treated unfairly

¢) Take a new computer from one of your col-

II



leagues
d) Quit the job

183. During the past year, Josh saw more mov-
ies than Stephen saw fewer movies than Darren.
Darren saw more movies than Josh. Ifthe first
two statements are true, the third statement is
a) True b) False
¢) Uncertain d) None

184. A family has a man, his wife, their four
sons and one daughter. The family of every son
also has 3 sons and one daughter. Find out the
total number of female members in the family ?
a)8 b)9

c) 10 d) 11

185. Tanya is older than Eric. Cliffis older than
Tanya. Eric is older than CIiff. If the first two
statements are true, the third statement is

a) True b) False

¢) Uncertain d) None

186. Arrange the words given below in a mean-
ingful sequence :

i) Presentation  ii) Recommendation -

iii) Arrival iv) Discussion v) Introduction
) (v),iD).(iv)s i)

b) (i), (v),(iv),(id),(1)

¢) (ii),(v),(1),(iv)(it)

d) (v),(1i),(1),(11),(iv)

187. Choose the odd one out :
a) PSRQ b) SVUT
¢) MNPO d) KNML

188. Arrange the following words in an appro-
priate order :

i) Rainbow i) Rain
iv) Happy v) Child
a) (1v),(id), (iid),(v),(1)

b) (i), (v),(1),(i1),(iii)

¢) (D, (@), (1v),(v).(iid)

d) (i),(iid), (D),(v).(iv)

iii) Sun

189. Seismography : Earthquake :: Tascometer
-9

a) Landslides b) Strains
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c) Resistances d) Volcanoes
190. Car is to garage as aeroplane is to
a) Hangar b) Port

¢) Harbour d) Depot

191. One morning after sunrise, Suresh was
standing facing a pole. The shadow of the pole
fell exactly to his right. To which direction was
he facing ?
a) East

c¢) North

b) West
d) South

192. Four persons can cross a bridge in 3,7,13
and 17 minutes. Only two persons can cross
the bridge at a time. Find the minimum time taken
by the four to cross the bridge ?

a) 12 minutes b) 17 minutes

¢) 20 minutes d) 34 minutes

193. M and N have children A and B. F is the
spouse of B. D is the child of F. P is the son in
law of N. K is the kid of P. Who is the male
child of Mand N ?
a)B

c) None

b) A
d) Can’t be determined

194.25:37::49:7
a) 65
c)79

b) 69
d) 81

195. Five friends are sitting in a row facing
South. Here Mohan is in between Balu and
Raju; Rajuis to the immediate right of Praveen;
Amit is to the right of Balu, who is in the ex-

treme rightend ?
a) Amit b) Praveen
¢) Mohan d) Balu

196. Raman is performing yoga with his head
down and legs up. His face is towards the west.
In which direction, will his left hand be ?

a) North b) North-West

c) East d) West

197. Arrange the following words according
to the English Dictionary pattern :
1) Epitaxy i1) Episode ii1) Epigene

II



iv)Epitome  v)Epilogue
a) (1),(1),(iii), (iv)(v)
b) (i), (1), (v),(iv).(1)
¢) (ii),(v),(i)(D),(iv)
d) (v).(@v), (i), (0).(ii)

198. Which term is a type of detail ?
a) Prose b) Statistic
c) Style d) Chronology

199. A and B together can do a piece of work
in 12 days, while B alone can finish it in 30
days. A alone can finish the work in
a) 15 days b) 18 days
¢) 20 days d) 25 days

200. In the following question, a matrix of cer-
tain characters is given. Those characters fol-
low a certain trend, row wise or column wise.
Find out this trend and choose the missing
character accordingly.

B G N
D J R
G N ?

a)U b)V
)W d)X

ko sk sk ok sk sk sk sk ok sk sk skokok
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